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Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
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Mental Ability 1
Section Id : 545027291
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Number of Questions: 20
Number of Questionsto be attempted: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927349
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459275859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Definetely

Z. Defined

=, Defeat

4. Decomposed
E. Defame

Options:

1. % 45312
2. % 42513
2% 42135
4 ¥ 45321

Question Number : 1 Question Id : 5459275859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeTET deaf ot degwte § o7 o0 #7 & SRfaR ford

1. Definetely
Z. Defined
2. Defeat

4. Decomposed
L. Defame

Options:

1. % 45312
2. % 42513
2% 42135
4 ¥ 45321

Question Number : 2 Question Id : 5459275860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term wrong. Select that wrong term from the given alternatives.

EHJL, HJMN, KLMP, NIMSE
Options:

1. % EHJL

2. % HJMMN

3. ¥ KLNFP

4 % DMNMNSE



Question Number : 2 Question Id : 5459275860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T i@ d o g, e | U ug e 8 Tou my et § € 39 Ted 0, @i g
EHJL, HJMM, KLMNP, MISE

Options:

1. % EHJL

2. % HJMMN

3. ¥ KLNFP

4 % DMNMNSE

Question Number : 3 Question Id : 5459275861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series 15 given with ore terml missing. select the correct alternative from the given ones that will complete the

Series.

AG, DE, G110, 712, 7
Options:

1. ¥ M14

2. % IMil4

2% MI1E6

4 % IM16

Question Number : 3 Question Id : 5459275861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U 1w T T &, T & e 0E g & Tay Ty et # § g 9 e g, S arges B @ @
AE, Dy, 10, J12, 7

Options:

1. ¥ M14

2. % IMN14

2% MI1E

4. % IMN16

Question Number : 4 Question Id : 5459275862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % MNewton
2. % Pascal
2% Watt

4. % Force

Question Number : 4 Question Id : 5459275862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ferafar wer i Famy Ty Fepett # & Few aeg @ gfm
Options:

1. %

2. % URR

3. % gl

4 ¥ g

Question Number : 5 Question Id : 5459275863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (-) is related to the letters on the
right side of (-) with some Logic |Rule|Relation. Three are sirrilar on basis of same Logic/Rule [Relation. Select
the odd one out from the given alternatives.

Options:

1. % DE-1]
2. % I -NO
3V ND-T3
4 % 5T - ¥Y

Question Number : 5 Question Id : 5459275863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Ta T ey, T SrgR g T MY () o STt S e T A () a%azﬁaﬁvﬁﬁﬂﬁrmmﬁﬁﬂﬁa?ﬁﬁamm@r
ﬂaﬁ]ﬁ%aﬁqaﬁwﬁfﬁaﬂm%WWW%ﬁﬁqwﬁﬂrﬁﬁﬁﬁm SiEw

Options:

1. % DE-1]
2 % I]-NO
3V ND-TS
4 % 5T - ¥Y

Question Number : 6 Question Id : 5459275864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word pair from the given alternatives.

Options:

1. * Tennis : Court

2. % Skatting : Rink
2. ¥ Arena : Wrestling
4. % (Cricket : Pitch

Question Number : 6 Question Id : 5459275864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng # fou mo feeu! # & fowm geg gm #1 g

Options:
1. % g w1
o % wfd: for

3 ¥ arEeT: gt
4. % T g



Question Number : 7 Question Id : 5459275865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

South : Direction o 7
Options:

1. % MNorth : West

2. % Gold : Metal

2. % Kilogram : Foot
4. % Animal : Rat

Question Number : 7 Question Id : 5459275865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafere wa | o oy ferpet # & Heildd g g @1 g

AT L i
Options:

1. % guv . ofm
2 o Tl ey
3 % TEAmW T
4. ® AT TET

Question Number : 8 Question Id : 5459275866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the related words from the given alternatives.

Mewton : Force o Watt . 7
Options:

1. % Frequency

2. % Work

3. ¥ Power

4. % Length

Question Number : 8 Question Id : 5459275866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeitaET na § for my et & & defdd deat @t g

L T - | A
Options:

1. % s

2. % @

2 ¢ g

4 ® T

Question Number : 9 Question Id : 5459275867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related letters from the given alternatives.

ITSE : MVUN 0 APOC 7
Options:

1. % DRCOH

2. ¥ ERCF

= % EQRG

4 % DORH

Question Number : 9 Question Id : 5459275867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET vg | o my Hwedt o & Fete Rt wf g

ITSE : MWURN 0 APOC 7
Options:

1. * DRCOH

2. ¥ ERCF

2. % EQRG

4. % DORH

Question Number : 10 Question Id : 5459275868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inl a certain code language, "“OFY 15 called as 'ELUE’, 'ELUE’ is called as 'FEIMN', 'FEM' is called as ‘'FHONE',
‘PHONE' is called as 'PLASTIC, PLASTIC is called as "MILK'. What do we use for writing?

Options:

1. ¥ FHOME
2. % PLASTIC
. % ELUE

4 % ZOPY

Question Number : 10 Question Id : 5459275868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT wE e B W @ AT FET AW, ST @ FAR BRI AT 5, FAT B H TR AR S, B @ T
BET G 5, ‘THICCH i G FEl A 51 Toa o Teiy gf o JuaiT @ed 57

Options:

1. v o

o % TaTedE
3 % FEr

4. % T

Question Number : 11 Question Id : 5459275869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 & certain code language, "ARMY 15 written a5 171", 'EYES’ is written as "162". What 15 the code for "ALEC in
that code language?

Options:



1. % 139
2 % 151
3. ¥ 141
4. % 108

Question Number : 11 Question Id : 5459275869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T fatdE Wi v # CARMY @171 R Smar E, EYES @162 TR AT 81 s s T H CALS O W IS 4T 27

Options:

1. % 139
2 % 151
3.¥ 141
4 % 106

Question Number : 12 Question Id : 5459275870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, MEDIUM' is written as ‘FEGFX]'. What is the code for "WHITES' in that code
language?

Options:

1. # ZELOHE
= % ZFLOHP
3. ¥ ZELCHFP
4 % ZFLOHE

Question Number : 12 Question Id : 5459275870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tatde Wi e # MEDIUM' %1 PEGFE] eRaT AaT 81 s9 Fig AT § "WHITES' FT #1E Fa7 57

Options:

1. ¥ ZELCHR
2. % ZFLCHF
3. ¥ ZELOHP
4. ® ZFLOHR

Question Number : 13 Question Id : 5459275871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rishab and Keshav are good at cricket and basketball. Sohan and Rishab are good at cricket and football,
Gautam and Keshav are good at hockey and basketball. Sachin, Gautam and Mohan are good at baseball and
football. Which of the following staterment is NOT correct?

Options:
1. % Rishab is good at cricket, football and basketball.

2. % Sachin is good at football, hockey and baseball.
2. % Keshav is good at cricket, hockey and basketball.
4 # Gautam is good at football, hockey, basketball and baseball.



Question Number : 13 Question Id : 5459275871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U A1 g Topere oflT aedeaTa § 2R 7l ﬁ?ﬁ?mﬁﬁr{aﬁtwﬁﬁaﬁ%ﬁ Taw &Y S 51T S aTedeata
3 B Wi, A o Alg saaid o Geaiad § e 8 Maiaad § & @9 a7 T2 951 751 7

Options:

1. % =Fmy Tpdhe, Goad oY aededid § aR0T 2l

2. ¥ it Geald, Bl S seale | ST gl

%, % Frare fopdhe, SToRT AN ATCdEATA H SEET 51

4 % TTH GTal, i), sTedcale ST seald § 48T 3]

Question Number : 14 Question Id : 5459275872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six members of a family sat dowtl in a row for a photo session. Cnly Arjun is sitting between Keshav and
Sonarmn. Mohit and Naina are sitting at the corners. No one is sitting between MNaina and Sonarmn. Where 15 Surnil
sitting?

Options:

1. ® Between Mohit and Arjun

= % Between MNaina and Arjun

3. % Between Sonarm and Keshaw
4. % Between Keshav and Mohit

Question Number : 14 Question Id : 5459275872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e UTCET o o Haed Wiel Faar & o g Ul o a1 S o 990 & s o drde arj 98T 81 Tifgd & 247 el ot o8 g
AT S WA o el § B AR AT 81 GAle BEi a1 27

Options:

1. % gifEe ofit el ¥ e
o % 37 30 ard ¥ A

Z ® |y ot Fag & d
4 & g o AifET o el

Question Number : 15 Question Id : 5459275873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P, @ R, 5, Tand Uare six sisters. Q15 elder than P, but yvounger than 5. T s younger than P R and U are twins.
F is vounger than B. Q is elder than U Which of the following statement(s) isfare correct?

I. 2 is elder than R.

II. P15 not vounger than 1

ITIT. R is wournger than 5.

I%. T 15 ot the youngest arnong six Sisters.

Options:
1. ® Iand Il

o % land IV
2% [ and I
4 % [ II and III



Question Number : 15 Question Id : 5459275873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P, R 5 TARUTEaR- 8 Q PHAEE, e S @I a1 T, PHORIQ R R UFSa g F, R AT a1 Q UHFST &l
TgieiT # & @ T | I w5l 5 5

I O RETETT

I[P, U HFET 51 81

Il R, 5 HFRra

IV. T, 95 @541 # Tad F1eT 31 21
Options:

1. % a1l

ek B L

3 V1 A

4 % 111 &Il

Question Number : 16 Question Id : 5459275874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Siva is younger than Fiva. Kishore is younger than Riva but elder than Siva. Gautam is elder than both Rohan
and Riva . Riva is younger than Eohan. Who is the second youngest among these five persons?

Options:

1. % Siya

2. * Hiva

3. % Gautam

4. % Kishore

Question Number : 16 Question Id : 5459275874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T, Toa & wrdt B T, T & wieT § wiene T @ =St 81 Tiiaw, g o i gt & w2 i o, g G e g s i
e H H GET Hedl BT B 57

Options:

1. % T

2 ® o

z. % Mg

4 & TFar

Question Number : 17 Question Id : 5459275875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six persons ©1, ©2, O3, O4, OF and O8 are sitting around a circular table facing towards the centre. Cnly O
15 sitting betweenn O and O4. COnly O2 is sitting between O6 and ©1. O3 is second to the left of O5. Which of
the following statement(s) is fare correct?

[. O1 is not sitting to the immediate right of O3,

IT. Only ©Z 15 not sitting between 1 and O6.

III. 5 is not second to the left of 2.

IV, O4d is sitting to immediate left of OF.

Options:

1. % Only IV

2. % Only Il and IV

2% Onlyland IV



4. % Only Il and IV

Question Number : 17 Question Id : 5459275875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE A 01, 02, O3, 04, O5 3 O6 @ & I 09 9d [F PR O & 15g - Mg o o 06 3R O4 & s # #Fad OF «ar
208 Ol ¥ gt 1 e O2 AT R O3, OS5 & Al 8% ZaeT g1 aieiad H & @I |1/ & o 45l 5/ 57

1. O1, O3 % qid gl 87K 751 587 3

II. 01 ﬁ@gmﬁmﬂ@%ﬁaﬁ%
III. OS5, 02

IV. O4, OF mmmgﬁﬂwﬂwa

Options:
1. % HadAlv

o R Foe ] sV
A= B L AT
4 ® e 111 sV

Question Number : 18 Question Id : 5459275876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below has some statements followed by some conclusions based on those statermnents.. Taking the
given staternents to be true even if they seerm to be at variance from cormmonly known facts. Bead all the
conclusions and then decide which of the given conclusion logically follows the given staterments.

Staternents:
[. &]] chairs are tables.
II. Some pens are chiairs.

CONClusIonSs:
[. Some tables are pens.
II. All pens are tables.

Options:

1. % Cnly conclusion I follow

2. % Only conclusion 11 follow

2. % Both conclusion I and I follow

4 % MNeither conclusion follow

Question Number : 18 Question Id : 5459275876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Te My wer | g w39 ag 37 el UT TG i sy o T 9 T T et @Rt 0, o 39 9 A
Fert & TargaT N Tt Tomand 0 off% T Frerfive @ o Tam o @19 & Tomars, o 70 et o S1Tere oR gReETd B

I T
I1. % ®etd Gl 5l
Bl

1. FF I T 21
II.%W%%

Options:
1. & Sreret Tmerd 1 S1eRoT @ear 2
2. % e Tea 11 SIgER FaT 5l



3. % g e [ FeIT I ST 974 8
4 % i ot e srgev A5l awar g

Question Number : 19 Question Id : 5459275877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below has some staterments followead by some conclusions based on those staterments.. Taking the
given staternents to be true ever if they seem to be at variance from cormmeonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given staterments.

Staternents:

I. Some tables are pencils.
II. &ll pencils are pens.
III. 411 tables are cups.

ConclusSions:

[ Some cups are pencils.
II. Some pencils are tables.
ITI. All tables are pens.

Options:

1. % Only conclusion IT follow

2. % Both conclusion I and IIT follow
3. ¥ Both conclusion [ and 1T follow

4. % Only conclusion 1T follow

Question Number : 19 Question Id : 5459275877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1l Te My wer H g w39 Ag 3 el T AT §F sy o T ) T T Wt ® @Rl 0, o 39 9 A
Fert & TrgaT g &t Tomand o offv T Frerfior o 7 Tam o @19 & Tomars, o g et o srmere o geaTa B

GRuE

1. FF B UTHe 21
11, &t 4T Felr 2
Il Tt AT F 5

Options:

1. % et Tomerd 11 STeRoT #iaT 3

2 % gt Ty I J2T I S a5l
3. AT w1 F9T I SgER F7d 3
4, % ol Teard 111 STeRoT HaT gl

Question Number : 20 Question Id : 5459275878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

0,6, 24, 60, 120, 7
Options:
1. % 200



2. % 180
3. ¥ 210
4. % 240

Question Number : 20 Question Id : 5459275878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeRaT ma & &1 M oo § € g ofw I S

0,6, 24, 60, 120, 7

Options:
1. % 200
Z % 180
3.9 210
4. # 240
Merntal Ability 2
Group Number : 2
Group Id: 545027292
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Alalityz
Section Id : 545927292
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927350
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459275879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the missing number from the givern series.

4,9, 28, 113, 566, 7
Options:

1. % 3397

2. % 2693

3% 2367

4 % 1827

Question Number : 21 Question Id : 5459275879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrRTeTaT W § 7 TS AW & gH 4 F S
4,9, 28, 113, 566, ¥

Options:

1. % 3397

2. % 3693

3% 2367

4 % 1827

Question Number : 22 Question Id : 5459275880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg question, select the related nurmber from the gZivern alternatives.

37471739 28587
Options:

1. % 1064

2 ¥ 16824

=% 1824

4 % 2784

Question Number : 22 Question Id : 5459275880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET vg | o my Hwedt o & Fete wear wf g

3747 1729 28587
Options:
1. % 1064

2. ¥ 1624
3% 18524
4 % 2784

Question Number : 23 Question Id : 5459275881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

23499 3457



Options:
1. % 50
= ¥ 216
3 % 118
4. ® 23

Question Number : 23 Question Id : 5459275881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt W # fou 0 feemeat § 9 Heldd g w e

23499 345 7
Options:

1. ® 50

= ¥ 216

3% 116

4 % 263

Question Number : 24 Question Id : 5459275882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark (7) from the
given alternatives.

| 3 147 5| |9ofza7|nn| [12]2]2
8 3 5

Options:

1. % 148
Z ® 163
3. ¥ 189
4 % 2EE

Question Number : 24 Question Id : 5459275882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeE ng # Ty W Tt 8 we ey (7) S 0T ST e ST @ e

7 6
| 3 |147[ 5| [o9]247]11] |12
8 3

| -a| b=
[ %]

Options:

1. % 148
2. % 183
3. ¥ 189
4, % 255

Question Number : 25 Question Id : 5459275883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

30 | 2 40| 31 50 [ 35
17 [ 395 15| 425 19 | ?

LA

Options:

1. % 725
2 ¥ E15
2. % B75
4 % LREG

Question Number : 25 Question Id : 5459275883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT ma f for my et # & we v (7) 3F 99 U ST e ST w g

30 | 2 40| 31 50 [ 35
17 [ 395 15| 425 19 | ?

LA

Options:

1. % 725
2 ¥ E15
3. % 575
4 % CRE

Question Number : 26 Question Id : 5459275884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of {-) with some Logic/Rule [Relation. Three are similar on basis of the same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options:

1. % 25-150
2. % 112-120
2. % 38-5E0
4 % 125 - 250

Question Number : 26 Question Id : 5459275884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Tam T e, S HET g T T 1 (-) 3 S ST S TS S (- jﬁs‘aﬂaﬁfﬁﬂ?ﬂwﬁﬁﬁeﬁﬁrw Harel & Ha e
21 T FET e dok ) Terom | HaleT & ST oY 9aT g Ty ™y Heedt o & fEuy wt g

Options:
1. % 25 -150

2. % 112-120
2. % ZE-5E0
4 % 125 - 350



Question Number : 27 Question Id : 5459275885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If W means “x', ¥ means '+, Y means - and ‘2 means ‘+,then 4 W 12 Z 7Y 28X 422 =7
Options:

1. % 46

2 ¥ 50

3. % 56

4 % G0

Question Number : 27 Question Id : 5459275885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A W owT el e, K omTenf s, v wmre - T W+ R T4 W12 I FY2EH4Z 2 =7
Options:

1. % 45

2. ¥ 50

3 % 5

4. % g0

Question Number : 28 Question Id : 5459275886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfA*B*BE*C A2 +EB2+C2+2AB+BC+CA)L then(3*4* 7)1 =7

Options:

1. % 138
2. % 216
3. ¥ 196
4 % 224

Question Number : 28 Question Id : 5459275886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AEA*BE*E*C=AP +EB2+C2+ 2AE+BC+ CA) S N2 *4*7) =7
Options:

1. % 138

2 % 216

3. v 196

4 ® 224

Question Number : 29 Question Id : 5459275887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tam T W, =T EEaT g T T 1 (-) o S ST S TS S (- jﬁ?atﬁaﬁfé’rﬂﬁﬂwﬁﬁﬁrﬁ;ﬁaﬁ el & Hateg
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Options:
1. % 57EE - 1680

2. ¥ 7963 - 1136
3% 2894 -E5FE6



4. ® 4761 - 168

Question Number : 29 Question Id : 5459275887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (-) is related to the number
of the right side of {-) with some Logic (Rule jEelation. Three are similar on basis of the same
Logic [Rule/Relation. Select the odd one out from the given alternatives.

Options:

1. % BFER - 1680
2 ¥ 7963 - 1136
3. % 2894 -576

4 % 4751 - 168

Question Number : 30 Question Id : 5459275888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.
Machine, Molbile, Car

Options:

1. v

(©)o

Question Number : 30 Question Id : 5459275888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W I~ AT At T T = o S o Herel o SR 0T e o)

A, AiEEd, =T
Options:



1.9

Question Number : 31 Question Id : 5459275889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many men are graduates but not married?

Graduate

Married

Options:
1. % ¢
o %7
3 v 4
4 ® 2

Question Number : 31 Question Id : 5459275889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ST TS ST H Tl qew & &, A e Te 27

Options:
1. %8
> w7
3¢ 4
4 #® 2

Question Number : 32 Question Id : 5459275890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A child going towards south direction firstly turns towards the right and then turns towards the left. In which
direction is he going now?

Options:

1. % South
2. % MNorth
I % West

4 % East

Question Number : 32 Question Id : 5459275890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FTET e Y ST AT T5T U 9 e a18 o) G4 8 T TR A o gar §1 ay o g faar # S i
Options:

1. & igm

=z % gmw

3 ® gEm

4 %

Question Number : 33 Question Id : 5459275891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sajjan goes & km towards east from a certain point. Then he goes 2 km more after turning to right. MNow he
again turns right and goes = k. In the end he goes 2 km after turning to left. How far (straight line distance)
and in which direction is he now from that certain point?

Options:

1. ¥ 5ln, South-west
2. % B, Morth-east
3. ® 4 lan, South

4 % © ko, South-east



Question Number : 33 Question Id : 5459275891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks 0.25
A=t U e Telg & 6 Tt qef ot 110 merT 81 10 o s &7 g o e 2 Top Al offe <117 81 & O TS
T AT AT R BT U a9 &% AW ged & a5, 2 FE AT Jar ﬁﬁﬁ%ﬁﬁgﬁﬁﬂﬁg@%ﬁ@gﬁ) aﬂ?ﬁm?

Options:
1. % 5 T A1, ghanr-utm

2 % g Tpdr, Im-qd
3 % 4 TFdr, gl
4 5 T, gigor-uE

Question Number : 34 Question Id : 5459275892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:
® ®
L AR
| % L BN
@
L AN
2.4.—*’. o
LK L
. 3L
3.*’3.
B ®
o|o|®
g, * e

Question Number : 34 Question Id : 5459275892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ma #, fow My faewet # & fuw smgla &1 g

Options:
® ®
®




o W

Question Number : 35 Question Id : 5459275893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which answer figure will complete the pattern in the question figure?

AN

6
6
@

JAN




Question Number : 35 Question Id : 5459275893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIS T ATHI o AT H1 T B e

/AN A

O ?

Options:

1.9

@
©
®
A

Question Number : 36 Question Id : 5459275894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two figures given on the left side of () are related with some logic frule frelation. Select the missing figure on
the right of () from the given alternatives based on the same logic/rule frelation.

Q| : [ @] ] »
o oo o v
Options:




©

©

©

Question Number : 36 Question Id : 5459275894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
() I AT oI SF T S e d T et ae T Her & gt B o v Eeent # 9 () % gt o mae T e deyr
TR A ST i

QIMIAMCOIMNE

Options:

Q| @

>

@ [®

Question Number : 37 Question Id : 5459275895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& piece of paper is folded and punched as showr below in the question figures. From the given answer
figures, indicate how it will appear when opened?

T O N I

Options:
L'mmmm'a

< <
& <

oo
o0
1.9

o O
o0
00
& 0

a$
o0
o0
ek

Question Number : 37 Question Id : 5459275895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et 3 ey areplat # TR SIgAT T @ HISE fed 9T Giee F alg O O J6e gt ST g 2

1 =] [T

Options:
L'mmmm'a

< <
< <

oo
o0
1 W

] [




o
o0
o0
o o

) E—
U~ U

a ¢
00
o0
oo

Question Number : 38 Question Id : 5459275896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and puniched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened?

S il S

Options:

O304
od po
¢d po
oo 4q

o304
od po
o Ppo
o0 4

o
bo

o304
o304

o4
oo

o
b=

40304
o304

op
o«

4 &

Question Number : 38 Question Id : 5459275896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el 3 e armgptaat § Ty Sgar 0 @ HIS® da- a9 Giel & o1g o [0 Ju¥ ATgd ST [SEmE <

5 -41 ........ E

Options:




o304
¢4 PBo
¢4 PO
g [=—=1-2|

o0 d
odq po
o Pbo
o0 4

o304
-]
L
o304

o4
oq

4003394
-]
-
o0 4q

op
oq

g o

Question Number : 39 Question Id : 5459275897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& piece of paper is folded and punched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened?

Options:
U U
gdA ADR

v v@i
1 % LInn |

U0 U
dA AR

OV Vel

da Al

da v
oo LI

da AR

v v
_n_n



Question Number : 39 Question Id : 5459275897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl o e angtdat § Ty Sgar 0 o HIS® a1 a2 Giet & o918 oy [0 Ju¢ ST ST (G| e

: —r :
,j s A :
Options:
— U U |
dA AR
Ly VO

1 % Lnn_ |

= .
da AD

dvV vd

da Al

A VI

A AR

v v

Question Number : 40 Question Id : 5459275898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

84 small cubes of same size are combined together to rmake a solid cube All the faces of this solid cube are
coloured red. How rmany small cubes will have at least one face coloured red?

Options:
1. % 82
2 % B0
3. % 54
4 ¥ 5g

Question Number : 40 Question Id : 5459275898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HAT T &F 64 FIE o1 & T H ATSHE Tef 316 O o127 7T 51 56 316 6 &l T B! @1 ofTel 7 F €0 747 71 T #ie
T & FH F FH TF Feldr AT 7 o 7 77 27

Options:
1. % g2
= % B0
3. % 54



4. ¥ 56

erneral Avwarensssl

Group Number : 3
Group Id: 545927293
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 545927293

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927351
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459275899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which dance form is performed in Punjab?

Options:

1. % Charkula

2. ® Mayur Nritya
2. ¥ Giddha

4 % Grida

Question Number : 41 Question Id : 5459275899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H &I |7 o T T 87

Options:
1 = PIETI
R e ]



3. ¥ T
4 % =T

Question Number : 42 Question Id : 5459275900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following is a tabla player?

[. Ustad Alia Relkha Khan
II. Samata Prasad
III. Zakir Hussain

Options:

1. % Cnly I

2 % COnly 11

2. % landIII
4 9 [ 11 and III

Question Number : 42 Question Id : 5459275900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorgTaaT # & F | e T 2

1. IEITE AT TET 91
1. THaT UdTE,
I11. ST gt

Options:

1. % dadl
2 % Fadll
3% [ F9rTlll

4. %1, 11 gemlll

Question Number : 43 Question Id : 5459275901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Scmal Mansingh 15 associated with which dance form?

Options:

1. % Mohiniattam
2 % Kuchipudi

2. % Bharatnatyam
4. ® Kathalkali

Question Number : 43 Question Id : 5459275901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AHE AHTEE 2 o &0 & 21 57
Options:

1. % mifgsterzn
2. % gRmEt

= ¥ aogHATEr
4 ® g



Question Number : 44 Question Id : 5459275902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Doul festival is holiof ______.
Options:

1. ¥ Rajasthan

2. % Jarmrru and Kashrmir

3. % Meghalava

4 ¥ Assam

Question Number : 44 Question Id : 5459275902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ER TRR ______ HT AT &l
Options:

1. % TrrEe

2 % S ofK wai

3. % TEwEg

4 ¥ @7

Question Number : 45 Question Id : 5459275903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which are the two types of taxes that come under Tax Revenue?

Options:

1. % Direct and Indirect Tax

2 % Important and Unimportant Tax
2. % Static and dynarmic Tax

4. % Upper and lower

Question Number : 45 Question Id : 5459275903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TTAEd F d5d M A6 3T J9F oF B BT o 57
Options:

1. ¥ vy T ameoy

2. % mgoaqrf o Agcdg A #
z ® Er o e a7
4 ® oot e e

Question Number : 46 Question Id : 5459275904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hifeer W0, W 1 e sl &7 et oaaT &

Options:

1. ¢ arad e
2. % FTar arguTa
3. % o e



4. ® ZzgrefETEy

Question Number : 46 Question Id : 5459275904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The total liability of the monetary authority, Eeserve Eanlk: of India is called

Options:
1. ¥ high powered money
2. % liability Ratio

2. % legal tendersTax

4. % liability Insurance Rate

Question Number : 47 Question Id : 5459275905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ purchasessells government securities to the general public in a bid to increase /decrease the stock of
high powered rmoney irl eCornony.

Options:

1. ® State Bank

= % Rural Eanlks

3. ¥ Reserve Bank of India

4. % 5mall Banks

Question Number : 47 Question Id : 5459275905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ et H STed o & €21k @ agl- Te T @ 6T T ST ) & e wiaidal 1 @iig ) ekt #ar &/ @ § |

Options:
1. % wrdy

2 % TTHm S
3. ¥ ardig fead dw
4 ® girdw

Question Number : 48 Question Id : 5459275906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
O dissolving magnesium ribbon in water, it forms a new substance. [dentify it from the following options.

Options:
1. % MgO
Z ¥ Mg(OH) o

3. % ME(CO) 4

o
4. % MgO

Question Number : 48 Question Id : 5459275906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fulifiram feae &t ot & Tie o T e = nenf aanaT 81 39 g Heedt § 8 ugem
Options:

1. % MgO



2. ¥ Mg(OH) ,
3. ¥ Mg(CO) ,

4. % Mgo,

Question Number : 49 Question Id : 5459275907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whern an acid solution is rmixed with a base solution, what is its effect on temperature?

Options:

1. % Rapidly decreases
2. % Decreases

2. ¥ Increases

4. # Mo change

Question Number : 49 Question Id : 5459275907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
A SR Tt @1 SR ek Tohea o e THATET T &, a7 SITHERaT & JI0AT O &7 T 0847 57

Options:

1 % gSraoearg
2 % geary

3. ¥ agarg

4 % FE uiedT T

Question Number : 50 Question Id : 5459275908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most important discovery in transportation was the invention of

Options:
1. * Bullock cart

2. ¥ Wheel
2. % Stearn engine
4. % Train

Question Number : 50 Question Id : 5459275908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TiEg H Held Hgod U @i ______ T TR 2

Options:

1. % g mar
2. o uigd

3. R oI T e
4, ® FEmEr

Question Number : 51 Question Id : 5459275909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT an example of periodic motion?



Options:

1. ¥ Needle of a sewing machine
= % A swinging pendulurm

2. ¥ A rolling ball

4. % Strings of a guitar

Question Number : 51 Question Id : 5459275909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & § & 97 smad | niE @7 I 95 27
Options:

1. % &S A6 & e

2 % U ST Alew

z. ¥ U dewdl 1ig

4 ¥ Tew&raw

Question Number : 52 Question Id : 5459275910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich part of a flower is converted into seed?

Options:

1. # Pistil

= % Pollen grain
3.9 Crule

4. % Stigma

Question Number : 52 Question Id : 5459275910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T I AT Beal & 4 agadl 57
Options:

1. % z=q

2. % TR

z. ¥ sz

4 % gifemr

Question Number : 53 Question Id : 5459275911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which cell organelle are the waste disposal systerm of the cell?

Options:

1. ®¥ Golgi apparatus
= % Mitochondria
3. % Plastids

4. ¥ Lys0s0mmes

Question Number : 53 Question Id : 5459275911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Tieail JUaeT

2. ® wEEiwTgar

3. ® mifers

4. ¥ AEGEH

Question Number : 54 Question Id : 5459275912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following organisms breathe through skin only?

Options:

1. % Cockroach
2. ¥ Earthworm
3. #* Frogs

4 % Fishes

Question Number : 54 Question Id : 5459275912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T | & & A7 e e G| caaT o 9 o7 57

Options:

1. ® gt
2 ¥ degam
3 % frw
4. % OEar

Question Number : 55 Question Id : 5459275913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which tissues in hurran body store fat?

Options:

1. % Epithelial tissue
2. % Areclar tissue
2. #® Cartilage tissue
4 ¥ Adipose tissue

Question Number : 55 Question Id : 5459275913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATAT AT T T 1T T FA o T 1 Areld Fear a7

Options:

1. % JUEHAT FdF
= ® givarey Tow
3. ¥ gUTed Faw
4, ¥ T FaF

Question Number : 56 Question Id : 5459275914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
River Kasi flows through which of the following states?

Options:

1. % Madhva Fradesh
2. % Maharashtra

3. ¥ EBihar

4. # Rajasthan

Question Number : 56 Question Id : 5459275914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT T # & P T & e aRd T 27

Options:
1. % Mg uda

2 % mERTE
2 ¥ TR

4. % IFACA

Question Number : 57 Question Id : 5459275915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the two types of oCean currentsy

[. Warm ocean currents
II. Cold ocean currents

Options:

1. % Cnly I

Z % COnly 11

3. ¥ Bothland II

4 % MNeither I nor 11

Question Number : 57 Question Id : 5459275915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ASTANTC 2RI {er 57 0T 1 B1dT 27

1. i T
I sﬁaﬂﬂ%w

Options:

1. % Saal

2. % Fadll

= o [ garll FEt
4, ® qUrIATArII

Question Number : 58 Question Id : 5459275916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In which type of farming private corporations are engaged in processing fmarketing of agriculture products?

Options:
1. # Subsistence farming



2. ¥ Contract farming
3. % Intensive farming

4. % Slash and burn farming

Question Number : 58 Question Id : 5459275916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terey wepTe o AT H Tt T i Ieana o v T § aniie g1 87

Options:

1. % Sfifeer =4t

2 ¥ argder ST

% % TR T

4, ¥ FEAT TAT AT F T

Question Number : 59 Question Id : 5459275917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Laterite soil can be found in which of the following states?

[. Karnataka
II. Tarml Madu
III. Jharkhand

Options:

1. % landIl

2. % [TandIll
2. % JandIII
4 ¥ [ Il and III

Question Number : 59 Question Id : 5459275917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wetrge et FaimieT # & T oo 8 U = |ed T 57

1. FATe®
II. TS

III. FREE
Options:

1. % Id9rll
2. % 11 qerlll
3. % 1 99Tl

4. %1, 11 gemlll

Question Number : 60 Question Id : 5459275918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eanchenjunga is located in which state?

Options:

1. ® Tripura
= % Mizorarm
3.9 Siklkim



4. % Meghalaya

Question Number : 60 Question Id : 5459275918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Terey T | T 27

Options:

1. % g

o ® e

= o agH

4. ® FOET

Gerneral Avwarenesss

Group Number : 4

Group Id : 545927294

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

ereral Awarenesse

Section Id : 545927294
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927352
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459275919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following river does not flow in India?

Options:
1. ¥ Mekong

2 % Krishna



2% Luni
4. % Mahanadi

Question Number : 61 Question Id : 5459275919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torg 1 & ot S W A et 27
Options:

1. & H

2. % oy

3 % At

4. % mErast

Question Number : 62 Question Id : 5459275920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following king was influenced by the teachings of Buddha?

Options:

1. ¥ Ashoka

= % Bindusara
2. ® Bimbisara

4. % Chandragupta

Question Number : 62 Question Id : 5459275920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafelad & & @19 a7 T g 31 Tt @ meaTfe ge ane
Options:

1. % atam

2. % fagar
= ¥ fefeaw

4 % Fgm

Question Number : 63 Question Id : 5459275921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Dandi March started from ______ arnd ended in Dandi,
Options:

1. #* Surat

= % Yadodara

2. ¥ Sabarmati

4. % Gandhinagar

Question Number : 63 Question Id : 5459275921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST AT ______ o & g K ST H qHE Fam

Options:
1. % grg



2. % gEiga
3. ¥ OERHEdT
4. % TrefiaTe

Question Number : 64 Question Id : 5459275922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Poona Pact was signed i which vear?

Options:

1. % 1951
2 ¥ 1932
3. % 1942
4 % 1952

Question Number : 64 Question Id : 5459275922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT U e o | geaTeried e mam ar?

Options:

1. % 1951
2. ¥ 1932
3% 1942

4 % 1952

Question Number : 65 Question Id : 5459275923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following ruler commissioned the construction of Red Fort in Delhi?

Options:

1. % Mir Qasim

2. % Cutbuddin Aibalk
3. # Jahangir

4+ Shah Jahan

Question Number : 65 Question Id : 5459275923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & & T o = fowet | /e et 3 i @& @ g s ar?

Options:

1. % AR wem
2. ¥ FgEH Uew
z % FEhiR

4. & gt

Question Number : 66 Question Id : 5459275924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
James Augustus Hickey published which newspaper in 17807

Options:



1. ®¥ The Bombay Herald
= % The Berigal Gazette
2. % Sambad Kaurmudi
4. % Mirat-ul-Akhbar

Question Number : 66 Question Id : 5459275924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SR afimeed egit = 1780 § @19 97 erga™ maiEe e ar?

Options:

1. % ZTamw e
o, & T EH T
3. % g BEe!

4 % ERT-I0-3rfEaw

Question Number : 67 Question Id : 5459275925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During Medieval Indian History, Kalhan wrote which of the following books?

Options:

1. ® Sabag-e-Hindi
= % Rajtarangini
2. ® Bhagvatam

4 #* Alkbarnama

Question Number : 67 Question Id : 5459275925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HETHTe AR 14 SIagTH & G, Fegd o Wainad § § B @ Fad odl 7

Options:

1. % mam-u-Tgear
o, ¥ TATEET

3. % OUEaH

4. ® e ATHT

Question Number : 68 Question Id : 5459275926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who ameng the following has been honoured with the highest civilian honour of TTAE Zayed Medal in 20197

Options:

1. ® Pranab Mukherjes
= % Sushrra Swara]
3. ¥ MNarendra Modi

4. % Rajesh Jain

Question Number : 68 Question Id : 5459275926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty § 8 B 2019 § 99% afa W & |adig AT G 19 Ted o ST T T 87



Options:

1. % yurg gl
2. ® guHT T
3. ¥ g urr
4 % TR

Question Number : 69 Question Id : 5459275927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

India’s first mmanned Space IMission is named as
Options:

1. ¥ Gaganyaar

2. % Chandrayaan
= ¥ aditya L1

4. % Mangalyaan

Question Number : 69 Question Id : 5459275927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
URT & Ugel ATegd afatee e s ______ 2l

Options:

1. ¥ M=
= ® ZgEamE

3. % aeswLl

4. ® g

Question Number : 70 Question Id : 5459275928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won the 2019 Oscars for Best Actor?

Options:

1. ¥ Rarmi Malelk

2. % Bradley Cooper
2. #® Viggo Mortensen

4 % alfanso Cuaron

Question Number : 70 Question Id : 5459275928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e ST HT 2019 HTewt [WEd e ST 27

Options:
1. T AT

2 ® dealgw
3. ® T aites
4 % EwTEr FEHE

Question Number : 71 Question Id : 5459275929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



______ wiorl the Saraswati Sarmman 2018,
Options:

1. %® Sitanshu Yashaschandra

= ¥ K. Siva Reddy

3. # Gulzar

4 % Javed Akhtar

Question Number : 71 Question Id : 5459275929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T AR 2018 ST am

Options:

1. % ity gaEg
o ¥ T
3. % AT

4 ® FMIT Rt

Question Number : 72 Question Id : 5459275930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“The &udacity of Hope” book is written by

Options:

1. ¥ Donald Tramp
= ¥ Barack CObarra
3. % Arun Jaitley

4. % Shinzd Abe

Question Number : 72 Question Id : 5459275930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Z TSR o g qedw &R Terdl T 31
Options:

1. % ZHes ¢

2 & ETE AftETHT

z & e STH

4. % TawAT aret

Question Number : 73 Question Id : 5459275931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T U Tead MeimET | & i afeag & 9w § 79T AaT 87

Options:
1. % =V & oW, areiEat

2. % mErenT et
3. % gum g
4. V' TER arAwATE Ted

Question Number : 73 Question Id : 5459275931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
MNational Unity Day is observed in honor of which of the following personalities?

Options:

1. % Dr. B R. Ambedlkar

2. % Mahatma Gandhi

2. % Subhash Chandra Bose

4. % Sardar Vallabhbhai Patel

Question Number : 74 Question Id : 5459275932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The President of India can be removed from office through ______
Options:

1. ® Casting

Z % Reprimand

3. # Charge

4. ¥ Impeachment

Question Number : 74 Question Id : 5459275932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o TR & ______ & ATETA F US & ST AT 9T 21

Options:

1. % srfedm
2. % GI&
3 % amm

4. & mETHEE

Question Number : 75 Question Id : 5459275933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the Indian Constitution, no citizen shall be discriminated on the basis of which of the following™?

I. Bace
II. Caste

Options:

1. % only 1

2 ® only I

3. ¥ Both I and 11
4. % Neither I nor II

Question Number : 75 Question Id : 5459275933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 1 HICeT o ST, Faieiiad § & T ITeq Ut Rt ot Siier o ey e =g T =t

1. gdr
IT. AT
Options:
1. % Sael



= % il
3. ¥ [ qurll gt
4 ® QU ATATIl

Question Number : 76 Question Id : 5459275934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who can proclaim Financial Emergency in India?

Options:

1. * Vice President
= ¥ President

3. ® Chief Minister

4 % Prime Minister

Question Number : 76 Question Id : 5459275934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # e ammaaTe &t Oieu @19 @ a@aT 57

Options:

1. % gore
2, o TeghE
3. % gt
4. % meTEEAT

Question Number : 77 Question Id : 5459275935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Through which Constitutional Amendment Act, the word “socialist’ was added to the Preamble of Indian
constitution?

Options:

1. ¥ 42nd
2 % 44th
3. % Z6th
4 % 35th

Question Number : 77 Question Id : 5459275935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o TTcrerT= e STy o aTead O, OaTer deg @9 1 Gl @ TEdeT § gt e T e o

Options:
1. ¥ 42

= % 4aqT
= ¥ geay
4 % 357

Question Number : 78 Question Id : 5459275936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany gold medals did India win in Comumornwealth Games 20187



Options:
1. % Z0
= ¥ 28
3. % 18
4, % 22

Question Number : 78 Question Id : 5459275936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T 2018 H 9Wg -+ fora - avf g it 47

Options:
1. % 20
2 ¥ 28
3. % 18
4 ® 22

Question Number : 79 Question Id : 5459275937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ wiorl the Golden Boot aveard in the FIFA World Cup 2015,

Options:

1. % Harry Kane

Z % Kylian Mbappe
2. % Thibaut Courtois

4. % Antoine Grieziranr

Question Number : 79 Question Id : 5459275937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ o GTRT febt 0 2018 | Mea g QEd R Sia7 2m

Options:

1. gorae

= B grsieErT TEm
z. % T wihd

4. % gErHr drHT

Question Number : 80 Question Id : 5459275938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following pair of player - sport is NOT correct?

Options:

1. # Divyansh Singh- Shooter
= % Mary Korm-Boxing

2. ¥ Sandeep Singh- Football
4. # Suresh Raina- Cricket

Question Number : 80 Question Id : 5459275938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TRTer T & & = A7 T - S @ g gl Al 57

Options:

1. % Toeama M- a7

2 ® OVT HTA-ATeeT

3. ¢ Wi fifg- peatar

4. % gy Rrve

Arithmetic Abilityl

Group Number : 5

Group Id: 545927295

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability1

Section Id : 545927295
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927353
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459275939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 723% is divisible by 9, then what is the value of ¥7

Options:
1. % 4
2. v¥E
3. %3
4 % 3

Question Number : 81 Question Id : 5459275939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Iqig 723Y, 9 A TdI=a &, 7Y & 0= FAT7 57

Options:
1.% 4
2 ¥ B
3. % B
4 % 3

Question Number : 82 Question Id : 5459275940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of (3.1+2 .9)2 +(31 —2.9}2 ?
Options:
1. % 20.14
2 % 3414
2. ¥ 3604
4 % 3218

Question Number : 82 Question Id : 5459275940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(3.1+29) +(3.1-2.9)" & AT T &
Options:

1. % 20.14

oo® 3414

2% ZE.04

4 ® 3218

Question Number : 83 Question Id : 5459275941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e 48Y72H, 72 A ToWEa § T + ¥ FTAF 74T 57

Options:
1. % 8
2 % 15
3 % 9
4 ¥ E9T15

Question Number : 83 Question Id : 5459275941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 48%Y72¥ is divisible by 72, then what is the value of ¥ + %7

Options:
1. %5
= % 15



Z w9
4 ¥ Gor 15

Question Number : 84 Question Id : 5459275942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a number is divisible by 12, then it must also be divisible by ______
Options:

1. %8

2% 24

3.¥ 8

4 ® g

Question Number : 84 Question Id : 5459275942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe U HEaT 12 H e g, drag & oft fongre=r T g
Options:
1. % 8
2 % 24
3.¥ i
4 % 9

Question Number : 85 Question Id : 5459275943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many numbers are there from 107 to 477 which are neither divisible by 2 nor by 57

Options:

1. % 153
2. % 147
2% 151

4. ¥ 149

Question Number : 85 Question Id : 5459275943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
107 & 477 &1 a1 U6l Gy g AT AT ar 2 9791 S & Teea 27

Options:

1. % 153
2. % 147
2. % 151
4 ¥ 1439

Question Number : 86 Question Id : 5459275944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A is the smallest three digit nurmber which when divided by 8 and 12 leaves remainder & and 10 respectively.
E is the largest two digit number which is divisible by both 8 and 7. What is the value of &4 + E?

Options:



1. ¥ 174
2 ® 172
3. % 168
4. % 120

Question Number : 86 Question Id : 5459275944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& T STRT T Ot e I T B 8 T 12 R oo U8 AW BEa € F9T 10 3 31 B SY st o gy o st de
A7 TS AT H ST 8 A + BE FT A 74T 27

Options:
1.9 174

2. % 172
3. % 188
4. % 180

Question Number : 87 Question Id : 5459275945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of Ifﬂ:l-l-i-l-i and B = i+ ! +i?

15 35 &3 56 42 30

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Options:

1.47/310

2 B7[360

3 39/170
!

4. 817340

Question Number : 87 Question Id : 5459275945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

It A= l+i+ir-r&rr5=i+i+imr:m?rm ,
15 35 63 56 42 30

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Options:

1.47/310

2 B7[360

3 39/170
!

4. 817340

Question Number : 88 Question Id : 5459275946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of If A= (0.6)" +~/0.16 ++/0.0036 and B = ~/0.36 ++/0.16 +~/0.0009 ?




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 152

2 168

3 1.85

4. 192

Question Number : 88 Question Id : 5459275946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A A= (06) +/0.16 +~0.0036 @ B = +/0.36 +/0.16 +~/0.0009 T AT FT &2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1152

2 168

3 1.85

4. 192

Question Number : 89 Question Id : 5459275947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statement(s) is/are correct?
i i
I1. 27 >200°

Options:

1. % Cnlyl

2 % only I

3. ¥ Both I and 11
4. % Neither I nor I

Question Number : 89 Question Id : 5459275947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fef@a # ¥ 39 a3 Fua @@ g/
I e e

I1. 2% > 200°

Options:
1. % Sadl



= % il
3. ¥ [ qurll gt
4 ® QU ATATIl

Question Number : 90 Question Id : 5459275948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statementis) isfare correct?

.47 >5(11 > 3|5
II. 715 > 1119 = 13}7

Options:

1. % Cnlyl

2 ® only I

3. % Bothland Il
4. ¥ Neither I nor I

Question Number : 90 Question Id : 5459275948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR § 8 | e wRl e Re

47 >5(11 = 3|5
II. 715 > 11}9 > 13}7¥

Options:

1. % ]

2 % Fadll

3 % 1 qerll 3Ef
4 & Frarlararil

Question Number : 91 Question Id : 5459275949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rajat offered a discount of Rs 240 on selling an article. If the rarked price of this article is Es 1200, then
what is the discount percentage?

Options:

1. % 10 percent
2. ® 40 percent
I % 25 percent
4. 9 20 percent

Question Number : 91 Question Id : 5459275949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el T 1 el O T+ 240 B0 H1 g &N Al UF aeq # ffed O 1200 #0 , a7 ge widad &= 27

Options:
1. % 10T
> % 40 it

3 ® oo gidud




4 % 20 uidaT

Question Number : 92 Question Id : 5459275950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Afrer allowing a discount of 44 percent on a shirt, a man still gains 14 percent. What is respective ratio of
rmarked price and Cost price?

Options:

1. % 28.57
2 % 114:51
3. ¥ E7 2R
4 % 5128

Question Number : 92 Question Id : 5459275950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g?ﬁrram%rqfqal eI & g o o WTT AT U st 1 14 W aT @ AT BT 81 ST Hra qT e Yol T R ST

Options:

1. % 28.57
2. % 114:51
3. ¥ 5728
4 % 5128

Question Number : 93 Question Id : 5459275951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Average of 31 observations is 29, Average of first 14 observation is 21. Average of last 18 observation is 45.
what is the value of 14th observation?

Options:
1. % 25
2. w27
3. ¥ 35
4 % 33

Question Number : 93 Question Id : 5459275951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
31 ATAlET BT 6T 39 51 WA 14 radie- &7 g 31 51 SIdH 18 aaaidd @1 oed 45 51 14 3 aEaied &1 3 F47 57

Options:
1. % 25
2. % 27
3. % 35
4 % 33

Question Number : 94 Question Id : 5459275952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the side of a square is increased by 35 percent, then what will be the percentage increase in its area?

Options:



1. ® 70 percent
= % 7825 percent
3. * 34 percent
4. % 32 25 percent

Question Number : 94 Question Id : 5459275952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Uer a1l W T W 35 WiHAT & ST T 8, G S9d ke ¥ e uidad & ghy g

Options:

1. % 70 nidem

o, % 7g.o5UReT
3. % 54 nidea

4 % 52 o5 gidad

Question Number : 95 Question Id : 5459275953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Length and breadth of a rectangle are decreased by 32 percent and 20 percent respectively. What will be the
percentage decrease in its area?

Options:

1. % 436 percent
= % 286 percent
3. ¥ 52 4 percent

4. % 48 4 percent

Question Number : 95 Question Id : 5459275953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ATT W1 AFTE J9T SISTE & wH: 32 Widard T97 30 niderd & 9o =7 81 50 daea # fra- nidaa &t wdt gii?

Options:

1. % 486 widea
2. % 356Uy
3. ¥ 52 4 UidaT

4 % 46 4 Uidad

Question Number : 96 Question Id : 5459275954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Due to 30 percent decrease in the price of pulses a man is able to purchase & kg more pulses for Bs 420, What
is the original price of pulse?

Options:

1. % Fs21/kg
2 % Rs20/kg
3. ¥ Es 30/kg
4 % Rz 25/kg

Question Number : 96 Question Id : 5459275954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
1A o Hel § 30 UiFaT & T 514 3 TR0, U ok 420 200 § 6 TR0 g1 SIfew @i T 81 ST ®1 SR Jod T4 57

Options:

1. % 21 »q)fepom
o % 20w R
3 o 30 TR

4 ® o w T

Question Number : 97 Question Id : 5459275955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Suresh buys a shirt for Bs 960 and sells it for BEs 576, What is the loss percentage’

Options:

1. % 40 Percent

= % BE.BE Percent
3. ® 20 Percent

4. % 23 3E Percent

Question Number : 97 Question Id : 5459275955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
L e TH T 960 700 H GOIEAT § 79T 36 576 20 | s 81 5T Wi ad &7 57

Options:

1. % 40 nidsm

o ® 5666 UideT
3. % 20 nide

4 ¥ 33 33 OideT

Question Number : 98 Question Id : 5459275956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yyorm earns a profit of 40% on selling an article. If instead of calculating the profit on cost price, he calculates
it on selling price, then what will be the profit percentage?

Options:

1. % 28.56 Percent
= % 14 28 Percent
3. ® 20 Percent

4. % 35 Percent

Question Number : 98 Question Id : 5459275956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S e g, /1 @t 40 UGS T AT FAET g1 Al AT F1 7T G U U ioid - e a5 awd Jrd U U iold #ar s, af
AT W aTT & 57

Options:

1. % 25856 nidaa
o % 1428 uideaT
3. % 20 nide

4 ¥ 35 gidaT




Question Number : 99 Question Id : 5459275957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ramesh sells a car at a profit of 15 percent. If he bought it at 20 percent less price and sold it for Bs 520
more, then he would have gained a total profit of 70 percent. What is the initial cost price of the car?

Options:

1. % Rs 49100
2. % Es 12000
2. % Rs 16000

4. % K5 14000

Question Number : 99 Question Id : 5459275957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U T BT 15 AT & AT O =T 81 Fie aF 59 30 Wi F0 0rd I GiigdT 39T 520 30 e I &= T, a7 39 70
Vi 2 & el AT WTH S1a0 R T AW E F Hodf 4T o7

Options:

1. % 9100 o
2. ¥ 13000 70
3. % 16000 70
4. % 14000 707

Question Number : 100 Question Id : 5459275958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfF =20and P + O = 72, then what is the value of P -G = 7

Options:
1. % 16
2. % 20
3. ¥ 24
4 % 32

Question Number : 100 Question Id : 5459275958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AP = 20 |IP + G = 72 5L TTP - Q FTHE FAT 27

Options:
1. % 16
2. % 20
3. ¥ 24
4 % 32
Arithrmetic Alality2
Group Number : 6
Group Id: 545927296
Group Maximum Duration : 0

Group Minimum Duration : 0



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Abilityz

Section Id : 545927296

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927354
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459275959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx = (3/dwand v = (2/3)z, then whatisx vy 27

Options:

1.%1:4:2
2. %543
w2401
4 ¥ 2:4: 8

Question Number : 101 Question Id : 5459275959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ak = (3 4y Ty = (2/3z 5L T3 v z FAT 57

Options:

1.%1:4:2
2. % E:4: 3
%2401
4 ¥ 32:4: 8

Question Number : 102 Question Id : 5459275960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mr. ¥ and Mr. ¥ have invested in a business in the ratio of 5 8 Mr. ¥ has invested for 16 months. If Mr. ¥ and
Mr. ¥ receive profit in the ratio of 1 : 2, then for how many months did Mr.Y invest?

Options:



1. ¥ 20 months
2. % 24 months
2. % 18 months
4. % 26 months

Question Number : 102 Question Id : 5459275960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr ¥ T Mr. Y A UF IR H 5 8 & argurd | uHT e @i Mr. ¥ 7 16 mgie o o Tt o afg Mr ¥ e Y@ L
2 @ SIUTd | TTH WIE e E, a1 Mr. Y e o o Terehar T g

Options:

1.9 z0AE
2. % 247%
% 18dR
4 % ZE AR

Question Number : 103 Question Id : 5459275961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

when kept at simple interest a sum of money becomes Rs 6800 in 2 vears and Bs 2000 in & vears. What is the
per annurm rate of interest?

Options:

1. % 16 percent
2. % 1 percent

3. ¥ 172 percent

4 % 14 percent

Question Number : 103 Question 1d : 5459275961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T A TTET el AT =0T O Tl Ad T 5 a1 d5 3 98 # 6800 T T2 S a8 § 5000 F0 57 A4 T 51 Wie I =47 &1 2f Fa7 57

Options:
1. % 16 uidad

= % 1 uidud
o ¥ 12 uidaT
4 % 14 yidaT

Question Number : 104 Question Id : 5459275962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 25000 are kept at cormpound interest (compounding annually). If the rate of interest is 8 percent per
annurm, then what is the interest for 2 years?

Options:
1. ¥ Rs 4180

2. % Hs5 4280
2. % Hs 4480
4. % Hs5 4360



Question Number : 104 Question Id : 5459275962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
25000 0 T Ty, =T (F1HEF G ) T TET AT 51 Tie, e ol 3¢ 8 WidHd Ui o &, 97 2 2 &7 =7 o7 57

Options:

1.9 4160 w7
o % 4280 T
3. % 4450 T

4 ¥ 4360 w4

Question Number : 105 Question Id : 5459275963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 35000 are kept at a rate of 12 percent per annum. What is the difference in compound interest and simple
interest for 2 vears?

Options:

1. % RsE576
2. % Rs 418
3. ¥ Rs 504
4 % Rs 808

Question Number : 105 Question Id : 5459275963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
35000 T BT 12 Uidard Uid oy &1 o & T A1a7 51 2 O & did g s a7 ST s @1 ST 74T 57

Options:

1. % 576wt
o % 416 T
3. ¥ 504 T
4. ® 508 v

Question Number : 106 Question Id : 5459275964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The speed of a train is 108 kmfhr. If the length of the train is 420 metres, then in how much time it will
completely Cross a pole?

Options:

1. ¥ 14 zeconds
2. % 12 seconds
2. % 15 seconds

4 % 18 seconds

Question Number : 106 Question Id : 5459275964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o YETTET T T 108 Rt eer 1 At et it ewar 420 few & 41 g uw @it o g o e # Ryqer awe st
Options:

1. ¥ 14 8972

o % 10 #Hgs



3. ® 15 Ogrz
4 ® 159wz

Question Number : 107 Question Id : 5459275965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The dowmnstream speed of a boat is 40 krnfhr and the speed of strearm is 15 kmfhr. What will be the total time
talen by the boat to cover 240 ko dowmnstream and 110 ko upstrearn?

Options:

1. % 12 hours
= ¥ 17 hours
2. % 21 hours

4. % 23 hours

Question Number : 107 Question Id : 5459275965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT 1 T 4T & 40 T A, T 5 T ST R Wi 15 TR AT UeT 81 oW 3 2@ 240 T A J9T 4w F uidga
110 fop dY. ga g @ mgﬁrﬁmmﬂmﬁmqﬁw

Options:

1. % 129
o ¥ 17 gd
z % 21w
4 % 23ge

Question Number : 108 Question Id : 5459275966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mohit and Surnit are 320 meters apart from each other and Swmit is ahead of Mohit. They both are moving in
the same direction. Mohit catches up with Sumit in 80 seconds. If the speed of Swimit is 36 km/hr, then what is
the speed of Mohit?

Options:

1. % 190 km/hr
2. % 150 km/fhr
3. ¥ 180 kmihr
4 % 160 km/fhr

Question Number : 108 Question Id : 5459275966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 320 Mex o i F1 80 AamT
maﬁ@@%%?%ﬁ;@ﬁ A HeT e ﬁ%ﬁ%@ﬁwsﬁm 1R 8 F, g 80

Options:
1. % 190 fp At feer

2 ® 150 T raer
3. ¥ 150 fF |t reer
4 % 160 fF A fEer

Question Number : 109 Question Id : 5459275967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Suraj can do a work in 60 days and Asholk can do the same worls in 20 days. They start the work together, bt
Suraj leawves the work after 12 days from the beginning. In how many days will Ashok finish the remaining
wiorl: alone?

Options:

1. ¥ 4 days
2. % Zdavs
2. % Cdays
4. % & days

Question Number : 109 Question Id : 5459275967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e 1 1 60 %ﬁmm?mmﬁmeﬁrﬁaﬁza T H W Hehd 1 g1 o W1 1 HI AT ST Hld 5, g e
R AT B o 12 T waltd @1 iS e ool ATdT 21 S F1 BT arsier arhell dha - fo o i serr?

Options:

1. 479
2 % 3fA
. % o
4 % A

Question Number : 110 Question Id : 5459275968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Chetan alone can complete a work in 16 days. Chetan started the worlk alone but left the work after 11 days. If
Fawi alone completes the rermaining worlks in 15 days, then in how many days Ravi alone can cornplete the total
work!?

Options:

1. % 24 days
2. % 48 days
2. % 40 days
4. % 24 days

Question Number : 110 Question Id : 5459275968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=T ardhel U 19 @1 16 T § 3T 9 9T 81 Ta- S5hel T 9% a7 & ot 11 T wand o g1 a7 81 I Tie kel =T
T HTE 15 T | QT a1 g, A7 Chel Scbel G8 T 7 TR T O OXT o e 57

Options:

1. % 24129
o ¥ 48 e
Z % 40T
4 % 3477

Question Number : 111 Question 1d : 5459275969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o WA OIS U o @ WA S0 e 397 100 F9e § 9% 9% 51 TF W UIey o 3 died wid i STt @ 9@aT 5 a0
AT ot W I T S, a7 fa 40 Fee & @ e A ¥ 6 gwar aa gy

Options:




1. % 450 ey
2. % 200 &
3. ¥ 500 AT
4. % 500 &

Question Number : 111 Question Id : 5459275969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two inlet pipes can fill a tank in 50 minutes and 100 minutes respectively. An outlet pipe can empty 2 litres
per minute. I all the three pipes are opened, then tank will be completely filled in 40 minutes. What is the
capacity of the tank?

Options:

1. % 450 litres
2. % 200 litres
3. ¥ E00 litres

4. % E00 litres

Question Number : 112 Question Id : 5459275970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& metallic solid sphere has radius 14 cme If it is melted to form small spheres of radius 2.5 cm, then how
rany siall spheres will be obtained?

Options:
1. % 40
= ¥ B4
3% 36
4 % 52

Question Number : 112 Question Id : 5459275970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T B 1T & Tiet @1 2o 14 #d#1. 31 i 8 Tiummee 3.5 9. e aTt 818 et a9 <0, a1 918 e fora+ o gie

Options:
1. % 40
2. ¥ B4
2% 36
4 % L2

Question Number : 113 Question Id : 5459275971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sphere is melted to form a cylinder whose height is 16 of the radius. If the radius of the sphere is & cm,
then what is the radius of the cylinder?

Options:

1. % ldcm
= ¥ 1Z2cm
3% Bom

4. % 10cm



Question Number : 113 Question Id : 5459275971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T et @1 THeTae U ool a1y 2T Foreee T GaTe Saa! T3ear &1 16 81 Ate e & [H3=ar 6 §.01. &, F1 &a- & ToFar a7 57
Options:

1. % 14 ¥ 4"

o ¥ 12 AT

3 % 59

4 ® 10TH

Question Number : 114 Question Id : 5459275972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a square and a rectangle are equal. The length of the rectangle is 15 cm greater than the side of
the square and breadth is & cm less than the side of the square. What is the area of the rectangle?

Options:
| 56.25 cm-

> % S1.75 cm?

5 % 58.5 cm?

48.75 cm?

Question Number : 114 Question 1d : 5459275972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST G TS 9T SRl alTa ) ST @1 airaTs ol ol ot o 15 #Hf. siféer § o7 3adt gl ol &l g1 & S 841 #7 3)
MTIT FT STH F47 57

Options:

| v 56.75 WAT?

51.75 W.HT.2

S

- % 58.5 WH?

48.75 W.HT.2

4 %

Question Number : 115 Question Id : 5459275973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of pair of shoes sold on different days of a weelk.

Dayvs Number of pair of shoes
D1 184
D2 192
D3 198
D4 214
D3 234
D6 252
D7 268

Wwhat i3 the average nwrber of pair of shoes sold per day?
Options:

1.9 22028

2 % 21528

3 % 02408

4 % 21228

Question Number : 115 Question Id : 5459275973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e ST T ATicieRT g o Terfire Tt ot skl T S T ST T e w gaid gl

e | o0 ¥ gow 6 wew
DI 184
D2 192
D3 198
D4 214
D3 234
D6 252
D7 268

Tia e sl TTF < &1 Aliea & aft|q | #2457
Options:
1. % 22028

o ® 21828
3 % 22428
4 ® 212028

Question Number : 116 Question Id : 5459275974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of bottles collected by different men.

Man | Number of bottles
Gl 120
G2 138
G3 156
G4 128
G5 176

The number of bottles collected by GE is what percent more than the number of bottles collected by G17
Options:

1. * B 66 percent

2. % 2666 percent

2. ¥ 46 BE percent

4. % G666 percent

Question Number : 116 Question 1d : 5459275974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t SF Tt aierenT TeRie Ot T e & i At e o gatd g

qeY | aidel & &
G1 120
G2 138
G3 156
G4 128
G5 176

G5 ST HT &1 T2 e aat ol ST G 1 ST AT @1 T Sia ! @ 9T @ a1 Nl e 27
Options:

1. % g.66 nidaT

2. % 2666 UideT

3. ¥ 46,66 UidaT

4. ¥ G666 nideT

Question Number : 117 Question 1d : 5459275975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the nurmber of shoes of different colours in an alrmirah. The number is shown
as a percentage of total number of shoes in the almirah.

what is the central angle subtended by a sector for red coloured shoes?
Options:

1. % 30

2 % 1g

3. ® 24

4 ¥ 35

Question Number : 117 Question Id : 5459275975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
w?@ﬁamﬁﬁﬁﬂﬁﬁiﬁfﬁmﬂﬁamﬁ HET BT AAANT H S| T ol T F Wi g & &0 o
CRIRIRIE

AT 3T 2 A1 T a1 T 2 127 0T 20T &7
Options:

1. % 300

2 % 15

3. % 24

4. ¥ 36

Question Number : 118 Question 1d : 5459275976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the nurnber of fans of different companies sold by a shoplkeeper.

70 1 62
60 - 54 lip =
01 40
40 -
30 -
20 -
10 4
D T T T 1
Cl1 C2 C3 c4

Company

Mum ber of fans

what are the total number of fans sold by the shopkeeper?
Options:

1.v 214

2 % 216

. % 218

4 # 220

Question Number : 118 Question Id : 5459275976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T T avs B § U g e g ey @ikt & s T uat d aean B gt gl

70 1 : 62
60 - 54
50
40 -
30 -
20

10
0

qat & Fear

Cl 2 3 C4
T

TR I of=l T2 GRa1 & el ] 47 57
Options:

1.v 214

2 % 216

. % 218

4 # 220

Question Number : 119 Question 1d : 5459275977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of females attending different yoga classes.

48 30

122 36

Mumm ber of Fem ales
L
o

0 T T T T ]
¥l ¥YX Y3 Y4 Y5

Yoga classes

The number of females attending Y5 is what percent less than the total fernales attending v1 and Y47
Options:

1. % 16.57 percent

2. % 2057 percent

= % 24 57 percent

4, ¥ 2857 percent

Question Number : 119 Question Id : 5459275977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Team T T e g =i e o aniie Afgarart @ we o aatar

60 A
50 - e
40 4
30419 36
20 A
10 1
0 T - T . |

wfieat & gwa
.
\
\

AT T

Y5 T Jihe Afgesl T Y1 797 Y4 ¥ aie e Aiger | g nidaT w9 27
Options:

1. % 1657 uided

2. ® 2057 nide

3. % 2457 uidem

4 % 2R E7 Uidad

Question Number : 120 Question Id : 5459275978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of bicycles repaired by a mechanic on different days of a weel.

40 4
= 3B
&
= 36 4
= T N
B 34 433 =" 35
z -
£ 32
_:FU T L} T 1
DI D D D4 D5
Dayvs

The number of bicycles repaired on D1 is how much percent less than the bicycles repaired on D57
Options:

1. # 10.38 percent

= % 1538 percent

= % 20.38 percent

4, % 25 38 percent

Question Number : 120 Question Id : 5459275978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et T T AT T g o TaTg Tt ue uer Berie e AeFRT TS el ol SIS T AT )

40 39
38 1 37
E 36 1
T
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% 32 1
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DI D2 D3 D4 D5
=

D1 # AerAT & T A el o T, DS H ACFRT @ T ATE R o e o TR T Wi e B

Options:

1. % 1038 uidea
2. ¥ 15 38 nidaT
3. % 20.38 nideT
4. ® 2538 URAT
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Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? :

No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral Englishl

Section Id : 545027297

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 545927355
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459275979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

Radha (1) [ refuse to go (2} | to the party vesterday (3) [. No error (4)
Options:
1.%1
= W2
3% 3
4 % 4

Question Number : 121 Question Id : 5459275979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Radha (1) [ refuse to go (2) [ to the party vesterday (3) . No error (4)
Options:
1.% 1
2 2
=% 3
4 % 4

Question Number : 122 Question Id : 5459275980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I shall (1) [ be late for (2) today meeting (3) /. No error (4)
Options:
1.%1
2. w2
2 V3
4 % 4

Question Number : 122 Question Id : 5459275980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

I shall (1) [ be late for (2) today meeting {3) [. No error (4)
Options:
1.%1
2 w2
2V 3
4 ® 4

Question Number : 123 Question Id : 5459275981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Omne should (1) 1 fulfil one's (2) | promises (3) [ MNo error (4)
Options:
1.%1
E
=%z
4 v 4

Question Number : 123 Question 1d : 5459275981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Omne should (1) [ fulfil one's (2) | promises (3) | Mo error (4)
Options:
1. %1
E
% 3
4 & 4

Question Number : 124 Question Id : 5459275982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Till the end (1) | of June my (2) | results will be out (2) /. No error



Options:
1.¥1
2. % 2
3% 3
4. % 4

Question Number : 124 Question Id : 5459275982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Till the end (1) | of June my (2) | results will be out (2) /. No error
Options:
1.¥v 1
2 %2
3% 3
4 % 4

Question Number : 125 Question Id : 5459275983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

Mot only Sanva | (1) and also Sam (2) [ has failed the examination (2) [ No error (4)
Options:
1.% 1
2. V2
3% 3
4 % 4

Question Number : 125 Question Id : 5459275983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Mot only Sanva | (1) and also Sam (2) | has failed the examination (3) [ No error (4)
Options:
1.%1
2. v 2
3% 3
4 % 4

Question Number : 126 Question Id : 5459275984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

(5ince) he got home last night is still a mwstery 1o me.
Options:
1. % How



2. % although
3. ® While

4. % Mo Improvement

Question Number : 126 Question Id : 5459275984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

(Sirce) he got home last night is still a mystery to me.
Options:

1. % How

= % Although

3. % While

4. % No Improverment

Question Number : 127 Question Id : 5459275985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

He denied that he thad not forged) my signature.
Options:

1. % forged

2. ¥ had forged

2. % did not forge

4. % No Improvermnent

Question Number : 127 Question 1d : 5459275985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He denied that he thad not forged) my signature.
Options:

1. % forged

2. ¥ had forged

2. % did not forge

4. % Mo Improvement

Question Number : 128 Question Id : 5459275986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

Due to ermergency conditions, the army was askad to stand up).
Options:

1.9 by

= ® out

3 % in



4. % No Improvernent

Question Number : 128 Question Id : 5459275986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Due to ermergency conditions, the army was askad to stand up).
Options:

1% by

Z % out

3. % in

4. % No Improvermnent

Question Number : 129 Question Id : 5459275987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

She hurt her back while she fworked) vesterday.
Options:

1. % worked out

2. ¥ was working

2. % had worked

4. % No Improvermnent

Question Number : 129 Question Id : 5459275987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She hurt her back while she (worked) vesterday.
Options:

1. %* worked out

2. ¥ yras working

2. % had worked

4. % No Improvernent

Question Number : 130 Question Id : 5459275988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

The police filed a case (to) the car driver for wrong parking.
Options:

1. % for

= ¥ against

3% by

4. % No Improverment



Question Number : 130 Question Id : 5459275988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The police filed a case (to) the car driver for wrong parking.
Options:

1. % for

2. ¥ against

=% by

4. % IMNo [mprovernent

Question Number : 131 Question Id : 5459275989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Sarthal. ______ the first prize in vesterday’'s race.
Options:

1. % win

2. % wins

2. ¥ won

4. % hawe worn

Question Number : 131 Question Id : 5459275989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Sarthak ______ the first prize in vesterday’'s race.
Options:

1. % win

2. % wins

3. ¥ won

4. % hawe worl

Question Number : 132 Question Id : 5459275990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Samisnotinameoeod ______ studying.
Options:
1.9 of
2. % to
3 *in

4. % with

Question Number : 132 Question 1d : 5459275990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Samisnotina meood ______ studvying.
Options:
1. ¢ of
2. % to
3 *in

4. % with

Question Number : 133 Question Id : 5459275991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She told her dentist to take ______ the bad tooth.
Options:

1. % over

2. % up

3% out

4. % along

Question Number : 133 Question Id : 5459275991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

She told her dentist to take ______ the bad tooth.
Options:

1. % over

2. % up

=¥ out

4 % along

Question Number : 134 Question 1d : 5459275992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This work needs tirme ______ patience.

Options:
1. % but

2. % also
3. ¥ because
4 % and

Question Number : 134 Question Id : 5459275992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This work needs tirme patience.



Options:

1. % but

2. % also

2. % because
4. % and

Question Number : 135 Question Id : 5459275993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Itneedstobe ______ with great care.
Options:

1. % do

= ¥ done

3. % doing

4 % did

Question Number : 135 Question 1d : 5459275993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Itrneedstobe ______ with great care.

Options:
1. % do

2 % done
2 % doing
4. % did

Question Number : 136 Question Id : 5459275994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It 15 mpossible to ______ without air.

Options:
1. % lived

2. % lives
2 % living
4 & live

Question Number : 136 Question Id : 5459275994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Itisrpossible to ______ without air.

Options:
1. % lived



2. % lives
2 % living
4 ¥ live

Question Number : 137 Question Id : 5459275995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

They wers stupid
Options:

1. % of

= ¥ o

2% with

4 % in

forget the ID cards.

Question Number : 137 Question Id : 5459275995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

They were stupid
Options:
1. % of

2 % o
= % yith

4 % in

forget the ID cards.

Question Number : 138 Question 1d : 5459275996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She darenct ______ the child.

Options:
1. % punish

2. % punishes
2 % punished
4. % punishing

Question Number : 138 Question Id : 5459275996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

Shedarenot ______ the child.
Options:

1. % punish

2. % punishes

3. % punished



4. % punishing

Question Number : 139 Question Id : 5459275997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: because our school had showr

E: last Wednesday,

3 our headmaster gave us a holiday

5: brilliant results in the High School Exarmnation
Options:

1. ® PSRO

2. % PORS

3. % QSEP

4 ¥ RHOPS

Question Number : 139 Question Id : 5459275997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

P: ecause our schiool had showr

E: last Wednesday,

2 our headrraster gave us a holiday

3: brilliant results in the High School Exarrnation

Options:

1. % PSROQ
2. % PORS
2. % QSREP
4 % ROFS

Question Number : 140 Question Id : 5459275998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Cut of the four options giver, select the most logical
order of the sentences to form a coherent paragraph.

F: deal of noise and in the

3 confusion I could hardly

E: make out the cause of quarrel
S: the people were making a great

Options:

1. ¥ SPOR
2. % PORS
2. % SROP
4 % SPRO

Question Number : 140 Question Id : 5459275998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: deal of noise and in the
& confusion I could hardly
E.: malke out the cause of quarrel

5. the people were making a great

Options:

1. ¥ SPOR
2. % PORS
2. % SROF
4 % SPRC

Group Number :
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Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
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Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

eneral Englishz
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0
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Section Id : 545027298
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Section type: Online
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Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927356
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5459275999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: but a closer analysis would reveal that adversity has its own advantages.
& everybody wants to live in joy, peace and plenty.

E: nobody wants to fall in the grip of adversity.

5: normally adversity is a dreaded thing.

Options:

1. % PQRS
2. % QRSP
2 ¥ SROF
4 % SORP

Question Number : 141 Question Id : 5459275999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: but a closer analysis would reveal that adversity has its owrnl advantages.
i everyhody warnts to live in joy, peace and plenty.

E: nobody wants to fall in the grip of adwversity.

5 normally adwersity is a dreaded thing.

Options:

1. % PQORS
2. % RSP
2. ¥ SROP
4 % SQORP

Question Number : 142 Question Id : 5459276000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Separate
Options:

1. % Part

2. ¥ Conjoin
3% Apart
4. % Divided

Question Number : 142 Question Id : 5459276000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Separate
Options:

1. % PFart

2. ¥ Conjoin
3. % Apart



4. % Divided

Question Number : 143 Question Id : 5459276001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Alien

Options:

1. ¥ Foreigner
= % Known

3. * Companion
4. % MNative

Question Number : 143 Question 1d : 5459276001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Alierl

Options:

1. ¥ Foreigner
2. % Known

2. % Cormpanion

4 * HNative

Question Number : 144 Question Id : 5459276002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Zordernn
Options:

1. % Abolish
2. % Praise
3. ® Grow

4. % Elarne

Question Number : 144 Question Id : 5459276002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Condernn
Options:

1. ® Abolish
= % Praise
3. % Grow
4. ¥ Elame



Question Number : 145 Question Id : 5459276003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Disclaim
Options:

1. % Spend

2. % Defray

2. ¥ Repudiate

4 % Followr

Question Number : 145 Question 1d : 5459276003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Disclaim
Options:

1. % Spend

2. * Defray

2. ¥ Repudiate
4. % Follow

Question Number : 146 Question Id : 5459276004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Cuarrel

Options:

1. % Dissension
= ¥ Accord

3. ® Strife

4 % Raliave

Question Number : 146 Question Id : 5459276004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Quarrel

Options:

1. % Dissension
2. ¥ Accord

3. % Strife

4 % Believe

Question Number : 147 Question 1d : 5459276005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % OCourence
= % Ocourrence
3. % OCourrance

4 ¥ Ccurrence

Question Number : 147 Question Id : 5459276005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. # Occurence
2. ¥ Dcourrence
3. % Occurrance

4. % Ocurrence

Question Number : 148 Question Id : 5459276006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ Calendar
2. % Kalendar
2. % Calender

4. #® Calander

Question Number : 148 Question Id : 5459276006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. % Calendar
2. % Kalendar
2. % (Calender

4. % Calander

Question Number : 149 Question Id : 5459276007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:
1. % Etheist
Z. % Athiest



2. ¥ Atheist
4 % Atheast

Question Number : 149 Question Id : 5459276007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ®* Etheist
2. % Athiest
3. ¥ Atheist

4. % Atheast

Question Number : 150 Question Id : 5459276008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | FPhrase.

At the eleventh hour

Options:

1. ¥ At the very last moment
2. % Fammiliar with

2. % DMever

4. % Upright

Question Number : 150 Question Id : 5459276008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

At the eleverith hour

Options:

1. % At the very last roment
2. % Familiar with

= % DMever

4. % Upright

Question Number : 151 Question Id : 5459276009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom {Phrase.

For good
Options:
1. % Deliberately
2. % Completely

3. % Forever



4. % A gecret

Question Number : 151 Question Id : 5459276009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

For good

Options:

1. # Deliberately
2. % Completely
3. ¥ Forever

4 ® A secret

Question Number : 152 Question 1d : 5459276010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Ins and outs

Options:

1. ¥ The details of anything
2. % Approximately

2% Owing to

4. % Valid

Question Number : 152 Question Id : 5459276010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

Ins and outs

Options:

1. % The details of anything
2. % Approximately

3% Owing to

4. % valid

Question Number : 153 Question Id : 5459276011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& place where bodies are kept for identification
Options:

1. # Sanatorium

2. % Crematory

=. % Hospital



4. ¥ Morgue

Question Number : 153 Question Id : 5459276011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& place where bodies are kept for identification
Options:

1. * Sanatorium

= % Crematory

2. * Hospital

4. ¥ Morgue

Question Number : 154 Question 1d : 5459276012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Government not connected with religious or spiritual matters.
Options:

1. % Secular

2. ® Democracy

2. % Anarchy

4. % Theocracy

Question Number : 154 Question Id : 5459276012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Gorrernrnent ot connected with religious or spiritual rratters.
Options:

1. ¥ Secular

2. % Democracy

3. % Anarchy

4. % Theocracy

Question Number : 155 Question Id : 5459276013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Destruction or abortion of a fetus.
Options:

1. * Filicide

= % Fratricide

3. ® Cortege

4. % Foeticide



Question Number : 155 Question Id : 5459276013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Destruction or abortion of a fetus.
Options:

1. = Filicide

2. % Fratricide

= % Cortege

4. Foeticide
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Question Id : 5459276014 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the Buttonwood Tree
Agreement. The agreement was drafted in response to the lack of organization that plagued the colonial
economy. [t was the first atternpt to regulate the American market. The futures or commodities exchange was a
separate trading platform that emerged from the need for regulated trading practices in agricultural
corrrmunities. This market would not be standardized until 1848 when the Chicago Board of Trade was
founded. The futures market facilitates the trade of contract agreements that guarantee the buver a price for
future delivery of goods. Although in many ways, the futures market was more stable than the stock market,
garly investors were more skeptical of the futures market primarily because it was a ripe environment for
speculators to trade and sell. In the 19th century, investors looked down on futures traders, viewing them as
rmarket maAnipulators, who engaged in wanton speculation. These investors did not realize that sirmilar
Criticisms were levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rarmpant in the US economy. [ronically,
the early agrarian futures contracts were crucial in maintaining the stability of the US market economy and
were specifically designed to reduce the risk for producers. In fact, the very speculators who were s0 feared by
19th-century investors actually made the market more efficient and kept prices stable. Futures contracts were
standardized as to the quantity, quality, location and time of delivery for each cornmodity that was bought or
sold. Both the standardized nature of futures contracts and the haggling over price by speculators, investment
risk, guaranteed that the futures contracts would be hought and sold at fair prices. It was only in the 20th
century that investors began to understand how the standard mechanisms of the futures markets could also
serve the stock market.

Sub questions

Question Number : 156 Question 1d : 5459276015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a word from the passage which means the same as originated

Options:

1. ® Agrarian

2. % Emerged

= % Regulated

4. % Engaged



Question Number : 157 Question 1d : 5459276016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following generalizations regarding trading platforms would the author most likely agree?

Options:

1. # The most stable trading platforms are those that trade contracts instead of stocks

2. % Some trading platforms were established in order to standardise national trading practices
Z. ¥ Modern trading platforms do not differ greatly from early trading platforms

4. % DNo option is correct

Question Number : 158 Question Id : 5459276017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author discusses early agrarian future contracts in order to

Options:

1. % Illustrate how these contracts contributed to the effectiveness of speculative trading

2. ¥ Refute the view that speculation compromised the stability and integrity of the futures markest

Z. ® Support the argument that standard mechanisms of futures trading can be applied to the stock market

4. % Emphasize the importance of speculation to the stability of the US market econormy

Question Number : 159 Question 1d : 5459276018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following best states the main point of the passage?

Options:

1. ¥ The creation of the stock market in the 15th century provided a model for the emergence of the futures
market

2. ® The success of the futures market like that of the stock market, depended on its ability to prevent
speculation

3. % The U5 future rmarket, whose procedurss earlv investors distrusted, actually promoted eCconoric statility

4. % The trading mechanisms of the future market are fundamentally the same as those of the stock market

Question Number : 160 Question Id : 5459276019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statement is false regarding future contracts?

Options:

1. # It iz concerned with both the bought and sold items

2. % It is standardized as to the quality, quantity, location and time of delivery of each commodities
Z. % These incur investrment risks

4. % Mo option is correct

Question Id : 5459276014 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cesticn Label | Comprehension



Read the following information carefully and answer the given questions.

The first American stock exchange originated in 1792 when 24 brokers wrote and signed the Buttonwood Tree
Agreement. The agreement was drafted in response to the lack of organization that plagued the colonial
economy. [t was the first atternpt to regulate the American market. The futures or commodities exchange was a
separate trading platform that emerged from the need for regulated trading practices in agricultural
corrrmunities. This market would not be standardized until 1848 when the Chicago Board of Trade was
founded. The futures market facilitates the trade of contract agreements that guarantee the buver a price for
future delivery of goods. Although in many ways, the futures market was more stable than the stock market,
garly investors were more skeptical of the futures market primarily because it was a ripe environment for
speculators to trade and sell. In the 19th century, investors looked down on futures traders, viewing them as
rmarket maAnipulators, who engaged in wanton speculation. These investors did not realize that sirmilar
criticisms were levied against the stock market when it was first established in the United States.

At the stock market's inception, wild speculation and price gouging ran rarmparnt in the US economy. [ronically,
the early agrarian futures contracts were crucial in maintaining the stability of the US rmarket econormy and
were specifically designed to reduce the risk for producers. In fact, the very speculators who were s0 feared by
19th-century investors actually made the market more efficient and kept prices stable. Futures contracts were
standardized as to the quantity, quality, location and time of delivery for each cornmodity that was bought or
sold. Both the standardized nature of futures contracts and the haggling over price by speculators, investment
risk, guaranteed that the futures contracts would be bought and sold at fair prices. It was only in the 20th
century that investors began to understand how the standard mechanisms of the futures markets could also
serve the stock market.

Sub questions

Question Number : 156 Question Id : 5459276015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a word from the passage which means the same as originated

Options:

1. % Agrarian

Z ¥ Emerged

3. % Regulated
4 % Engaged

Question Number : 157 Question Id : 5459276016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following generalizations regarding trading platforms would the author most likely agree?

Options:

1. ® The most stable trading platforms are those that trade contracts instead of stocks

2. % Some trading platforms were established in order to standardise national trading practices
2. ¥ Modern trading platforms do not differ greatly from early trading platforms

4. % IMNo option is correct

Question Number : 158 Question 1d : 5459276017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author discusses early agrarian future contracts in order to

Options:

1. ® Ilustrate how these contracts contributed to the effectiveness of speculative trading

2. % Refute the view that speculation comprormised the stability and integrity of the futures market

2. % Support the argurnent that standard mechanisms of futures trading can be applied to the stock rmarket

4. % Ermphasize the importance of speculation to the stability of the US market economy



Question Number : 159 Question Id : 5459276018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following best states the main point of the passage?

Options:

1. # The creation of the stock market in the 15th century provided a model for the emergence of the futures
market

2. % The success of the futures market like that of the stock market, depended on its ability to prevent
speculation

Z. % The U5 future market, whose procedures early investors distrusted, actually promoted econormic stability

4 ® The trading mechanisms of the future market are fundamentally the same as those of the stock market

Question Number : 160 Question Id : 5459276019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment is false regarding future contracts?

Options:

1. ® It is concerned with both the bought and sold of the itemns

2. % It is standardized as to the quality, quantity, location and time of delivery of each commodities
3. % These incur investment risk

4. ¥ Mo option is correct
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Question Number : 161 Question Id : 5459276020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TET T STeg # TP U o1 ©TST § AT T
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Options:

1. e &t
2 % 7 ETE
3 % g En
4 ® s |

Question Number : 161 Question Id : 5459276020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T aleg H T WeFTE ST ETET & ST ST

[GITE]

Options:

1. Tt &
o % Tt
3. % gl Arer
4. ® g Are

Question Number : 162 Question Id : 5459276021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T areg © vea AT e

Faar

Options:
1. % @
2 % o
=R B T
4 % 97

Question Number : 162 Question Id : 5459276021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T seg  vewr A i

HEAT

Options:
1% %
2 ® g
3 % W
4. 47



Question Number : 163 Question 1d : 5459276022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TamET # 8 F a7 geg Tt geg @7 I 7
Options:

1. ¥ 59

2. % g

3. % =@

4. ¥ fagdt

Question Number : 163 Question Id : 5459276022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafaET & & w97 aeg TRt g &7 IEmer &7
Options:

1. ¥ =9

2. % gme

3 % g

4. ¥ Tz

Question Number : 164 Question 1d : 5459276023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sreet 3 Ty H R A S
Options:

1. ¢ =ik

2 % offg

2 % g

4. % @y

Question Number : 164 Question Id : 5459276023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tamr M7 et wag # R F i
Options:

1. ¥ =i

2 % g

2 & i

4 % e

Question Number : 165 Question 1d : 5459276024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T arerer # EieRd T H TR W o S 8 AT e

AT AT AT EH # T &
Options:
1. ® gladEw



2 % FiddmEE
3. ¥ GoOdREer
4 ® cOfhdmEe

Question Number : 165 Question Id : 5459276024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T aerer # vEieRd AT H T W T ST 8 A F e

AT AT AT A a= T 5
Options:

1. * aa=a®

2. % AridamEr

3. ¥ TR

4, ¥ k=

Question Number : 166 Question Id : 5459276025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e aeg gt # & B9 |1 e = g 27
Options:

1. v eif - o

= % F=Z - am

3. % ORI - UTHTE

4 % g - o

Question Number : 166 Question Id : 5459276025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT eg gt & & & 9T e 14 7 27
Options:

1. o -

2. % giE - am

3. % STRT - AT

4 % g - 75

Question Number : 167 Question Id : 5459276026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta My sreg g T anf AT S

S - A
Options:

1. g d - 3
2 ® g - aFw
3. % T - Ay
4. ® 37 - a9



Question Number : 167 Question Id : 5459276026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta My sreg g T anf AT S

- &
Options:

1. g d - 3
2 % 3 - aFwW
3. % el - arg
4. # - ey

Question Number : 168 Question 1d : 5459276027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ety & o IR g @ e Hifem

T T i a2
Options:

1. & g

2. % TEdad

3 ® it

4. % Toged

Question Number : 168 Question Id : 5459276027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEIT T aTergTaT oF 16T ST Sfeg T oo i

[ELERAUREEE R |
Options:

1. & geioTior

2. ® gEdod

3 ® ol

4. ® TEged

Question Number : 169 Question Id : 5459276028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a0 T Teg, &7 T4 AT S

JTHTT
Options:
1. ¥ =1
2. % el
2 ® Jae
4. % mt

Question Number : 169 Question Id : 5459276028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ =T
2. % el
3 % e
4. % T

Question Number : 170 Question Id : 5459276029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7T amerETar F oY IR seg @ T die
T G T AT AT

Options:

1. % gradd

2. ¥ gradl

3. % gomdm

4. % grEe

Question Number : 170 Question Id : 5459276029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o M7 AT & W0 IRIT =g @ = HiFem
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Options:

1. ® gegda

2. ¥ gradf

3. % gomH

4. % geEe

Question Number : 171 Question Id : 5459276030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 steg, w7 AR deg AT HiFAm

TATF
Options:
1. % TraEr

o ¥ aE
3% 0
4. ® g

Question Number : 171 Question Id : 5459276030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T seg @ T e T dhiFAT

MR



Options:
1. % TraAT
o ¥ aER

3% g0
4.33@111-[

Question Number : 172 Question Id : 5459276031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl o & g =941 7 =37 Firm
Options:

1. % e: ga-

2. ¥ arnTdd

3. #® afénggg

4. ® TETTT

Question Number : 172 Question 1d : 5459276031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeaT ® & o ad 41 7 =3 Fire
Options:

1. % e ua-

= ¥ ST

2. % arfenuaeT

4. % raHFa

Question Number : 173 Question Id : 5459276032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam i e # Tk T 7 gfE

Options:
1. % 34T
2. % g

3. ¥ AR
4 ® g

Question Number : 173 Question Id : 5459276032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr g A o Tk wuT E gid drm

Options:
1. % Fa-r
2. % T34

3 ¥ ETRY
4. % g



Question Number : 174 Question 1d : 5459276033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. & waa

= % Fidae
= % T
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Question Number : 174 Question Id : 5459276033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. v =T
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Question Number : 175 Question Id : 5459276034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 5459276034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 steg, w7 AR deg AT HiFAm
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Options:
1. % fomper

2 % gl
= ¥ Tme
4 ® FEv

Question Number : 176 Question Id : 5459276035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 5459276035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T areg T ST A E e
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1. % fifez=r
2. o Tiigar

3. # igiet
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Question Number : 177 Question Id : 5459276036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.« oo

2 % ofE

3 % fag

4. ® grgw

Question Number : 177 Question Id : 5459276036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ gmr

2 ® 9k

3 % fag

4. ® yrgw

Question Number : 178 Question Id : 5459276037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 5459276037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Ay
o % FFared
3 ¥ H FENT
4. % T HLF

Question Number : 179 Question Id : 5459276038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR # & Ty amerer H apvaTea T AT AT 37
Options:

L. % ge g ogT =

2. ¥ T ZWRT U 03T 74T &)

% % g g IAT AR A

4, ¥ A UTTEAT R

Question Number : 179 Question Id : 5459276038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 5459276039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 5459276039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
Tor T e # i & w0 9T = d e

I FH AT 30 TAT 5T 2T
Options:

1. & ETeadT g

2. ® guEEE

3. % g

4 % gognfw

Question Number : 182 Question Id : 5459276041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T aerer # A o w0 T Eee e

A FIH AT 30 TAT 51 T2
Options:

1. & ST T

2. % wEEE

3. ® g

4 & gogmeie

Question Number : 183 Question Id : 5459276042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T At § & g e @ = Hie

Options:

1. % T afig & afft g
o o T sl )

=z ® T et & arft g
4. % i yd s d

Question Number : 183 Question 1d : 5459276042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Torr T AR o & S e @ o S

Options:

1 % e o & sl
2 o |7 et f

3 % dfar st & st
4. % Tyl s

Question Number : 184 Question Id : 5459276043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T deT o ORISR0 § A o e

Options:

1. % g
= % qEH
3 ¥ AT
4, % T

Question Number : 184 Question Id : 5459276043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tom T sree, Tor O B FaTER & AW S
Options:

1 % w0

2. % quoH

39

4. % ngmam

Question Number : 185 Question Id : 5459276044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T =T TR ST T IETRA0T & AT e

0T AT & =1 1 SEE AaT & AT aE el 5l
Options:

1. iy

2. % wgE

3. % mWA

4. ® sl

Question Number : 185 Question Id : 5459276044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
& M7 AT ﬁmdlcrqﬂ:"rdmﬁ-:m%a'lﬁ'fﬁﬁm

T i & T2 1 SE@ AaT & A1 aE TRl 8l




Options:

1. firex

2. % wgw
3 ¥ WA

4, % sraTelE

Question Number : 186 Question Id : 5459276045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TerafefET g # fau o = Rt § 4 79 e &1 = & S iy mr gere & anf #1 wdie w0 & oo Fear 8

THET SN T ZAET 7 ST
Options:

1. % 3T Joe] AT FAN
2 % gaee FHmem

3. ® i & AT e s
4. ¥ Fgd ATEE weE! HAn

Question Number : 186 Question Id : 5459276045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt mag # g my = Reedt #§ €, 79 e w1 e o S Ry geTer & sl @ adiy §0 @ s weaT 8l

TIAET SA1Y O GHST o A1)
Options:

1. % =T Joe] AT Fm
2. % [acte e

= % fF & Ay A am
4. ¥ TEd SATEE dEl FCAN

Question Number : 187 Question Id : 5459276046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng # Ty my o Rt § € 39 e @ e o S Ry T geTe & anef w1 aay w0 8 s aeaT gl

e AT W 75 AT
Options:

1. % ST ®E
2, o HFE 75 A
3. % gt aem

4. % ST e

Question Number : 187 Question Id : 5459276046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

femfaag wa & o 7o o fawedt # 4 39 fwen w1 ae o S oy o gere i anf 1 addE w0 & o FaT

e AR e g ST
Options:
1. % 3OAT ®AT



2, o HiFE 75 A=
3. % gt 2Am
4. % St Fermm

Question Number : 188 Question Id : 5459276047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafafET v # Tou 7y o Reedt § 9 39 Hwey @ 99 @ S Ry m gy F ol F aday §7 8 oo #aT gl

Fol AT BET 5 AN
Options:

1. & gg fha-m
= % gwaam

3. % omf g g
4, % TS BT AN

Question Number : 188 Question Id : 5459276047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl mg # fag g = Reedt § € 79 Rwew @1 =ae o St ey my gere & sl # 1wl w0 8 s a8l

AT BT F AN
Options:

1.« gg fia-m
2. % g

3. % zopef geEa 2
4, % T BT AT

Question Number : 189 Question 1d : 5459276048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o oy e F T EET AR @ Eee direm

EECIC UG I L A= T R |
Options:

1. % e R o 337 &=

e e A Y i A L T S B |
3. % AT A A

4. % eI T W

Question Number : 189 Question Id : 5459276048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a7 9T o 150 |R 1 Fler e o1 =14 @ik

SEATT I - I Agl o Jd
Options:

1. % e E o FaT o

2. o FE W EIET AW - I Al =g
3. ® ORI A A EE



4, ® e @y gm

Question Number : 190 Question Id : 5459276049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
femfaag wa & o 7o o fawedt # 4 39 fwen w1 ae o S oy o gere i anf 1 addE w0 & o FaT

FIEECEIGH

Options:

1. % R T 0
2. % A AT 5iEm
2.9 ORI o A

4, % FET =M

Question Number : 190 Question Id : 5459276049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl mg # fag g = Reedt § € 79 Rwew @1 =ae o St ey my gere & sl # 1wl w0 8 s a8l

EIEECEICH

Options:

1. % i Wi o #em
2. % FTe Uier g

2. ¥ URIE = S

4. % FET A

Question Number : 191 Question Id : 5459276050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e YOI T W e o T Toe T ey o v fee e g7

Options:

1.  quifeRTH

2. % aEEH
3 % argfenmm
4. % FwEE REg

Question Number : 191 Question Id : 5459276050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T Ui Y e ot 3 TR e e iy T i R st £2
Options:

1. quifeRTd

2 % seuldeTH

3. R aitdem
4. % gwEwREg

Question Number : 192 Question Id : 5459276051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T T R () Ty o Ry T Rg ae



Options:

1.9 SN
= % FTe
3. ¥ TR
4. ® goE

Question Number : 192 Question Id : 5459276051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e T e () ey Tererw e o R &
Options:

1. ¢ Fgwr

2. % FTET

z % TR

4 % gIOEF

Question Number : 193 Question 1d : 5459276052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T = # W AT S W Fuih g e e

[ W+ IIE atem
Options:
1% ;1

Question Number : 193 Question Id : 5459276052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =T | @i AT TS T U ST AT e

A A FE wlem
Options:
1%

2%
I %7
4 ¥ |

Question Number : 194 Question Id : 5459276053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TerafefT g # fag my = Rt § € 79 R &1 =3 @ S fay my geren % anf #1 adiy w0 & s Fear

ST Fee] HTET FAN
Options:

1. % 74T w TeeeaTm
2 % Ieel H W FAN




3. % oo W ARAD
4 % gy A HeAn

Question Number : 194 Question Id : 5459276053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TmteiET na # o 7y = Rt § € 39 e w1 wae @ S ey n geTer & sl @ adiy §0 & oo weaT 8

ST T HTET FCAN
Options:

1. & aeT F e
2 % Ioe o W FAN
3. % Ioe @ AAD

4 % FHTH T EHCAT

Question Number : 195 Question Id : 5459276054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =T | @i AT TS T U ST AT e

FT T FE e B
Options:

1. %

2w

397

4 % |

Question Number : 195 Question Id : 5459276054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T =T | Wi A7 9T @ U ST A e

T W FS Flerd B
Options:

1. %

2.

3.7

4 % |

Sub-Section Number: 2
Sub-Section Id: 545927360
Question Shuffling Allowed : Yes

Question Id : 5459276055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension
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Sub questions

Question Number : 196 Question Id : 5459276056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITIT T &7 & Qe 0 @i A7

Options:

1. % ggin

2 % oiET fd
3. o AR wEiee

4 % fomy

Question Number : 197 Question Id : 5459276057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR T e T g7
Options:

1. ufer T

2 % wIiEmEr T

3. ® od g avadT o Aegie

4 % T T HTEREET

Question Number : 198 Question Id : 5459276058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITIT e T 2T femaT 87

Options:

1. & ardt avre 21 51

2. % FITe H STAT =1 TFaT 21
3. % GITEIE AT

4. % T gl & 7 gl

Question Number : 199 Question Id : 5459276059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITTT & Al @1 @19 Ui AT 27

Options:

1. % T

2. ® gHaAH
= v g

4 % @



Question Number : 200 Question 1d : 5459276060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I T | A AT 2t A Ee
Options:

1. % qrET

2. % gear

2 O AT

4, % que e

Question Id : 5459276055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension

I TETTST T T 81 T 3 e ue i weg Ry Ty ¥ TR 6 s AEhe v a9 uedd e # O Seent # 9 g5t Hwew 74
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Sub questions

Question Number : 196 Question Id : 5459276056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T &1 &2 & G2l U @i o7

Options:

1. % pggf

2. % ae T
3. ¥ Agr e

4 % fEmy

Question Number : 197 Question Id : 5459276057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T T e T 87
Options:

1.« ofeF

2. % TriamEr T

3. ¥ qRd T wvgar o aegie

4. % T T STCHET

Question Number : 198 Question Id : 5459276058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITTT e e T T dmaT 57
Options:

1. it =re 2 gl



2. % FITe o ETAT ST TFaT 7l
3. ¥ @ETaTE TR
4, % TT g o A e

Question Number : 199 Question Id : 5459276059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITI & 6 &1 @1 Jield AT 27

Options:

1. % g

2 % gaAAE
2. ¥ Igg

4 % ZaE

Question Number : 200 Question 1d : 5459276060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IUET T | A T apf T Ee

Options:

1. % qm==T
2. % FEer
%, ¥ O erET
4 % quy e



